There are 25 sheets of paper in a small pack.

There are 500 sheets in a large pack.

small large
25 sheets 500 sheets

How many small packs make one large pack?

T
1 mark
The mass of the paper in the large pack is 2.4 kilograms.
What is the mass of one sheet of paper, in grams?
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A small box contains 650 grams of cereal.

A large box contains 20% more cereal.

One portion of cereal is 40 grams.

How many full portions are in a large box?
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m A box of 24 chocolate eggs has a mass of 870 grams.

The empty box has a mass of 30 grams.

What is the mass of one chocolate egg?
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3 pineapples cost the same as 2 mangoes.

One mango costs £1.35

How much does one pineapple cost?
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Ally and Jack buy some stickers.

Pack of 12 stickers 12 stickers
£10.49 99p each

Ally buys a pack of 12 stickers for £10.49

Jack buys 12 single stickers for 99p each.

How much more does Jack pay than Ally?

— L2/ %914 RYE
L1 ZIx | leol=| oo wtl i 1<, AN

g oo+ 12 = 115lE (139

method

\ e [ -39

il

z i

e e e e

A AR A

SR |

2 marks



At the start of June, there were 1,793 toy cars in the shop.

During June,
e 8,728 more toy cars were delivered

e 9,473 toy cars were sold.

How many toy cars were left in the shop at the end of June?
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n This table shows the heights of three mountains.

Mountain Height in metres
Mount Everest 8,848
Mount Kilimanjaro 5,895
Ben Nevis 1,344

How much higher is Mount Everest than the combined height of the

other two mountains? 4
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